| RecoAssoc2GenPVMatched Pt2 |

=
o
oS

Reco vertices matched to gen PV
=
o

| RecoAssoc2GenPVMatchedNotHighest_Pt2

Rati®keco non-PV-vertices matched to gen PV

1 =
o E 1 aF--i
E 1.2
E i
Jot v - . 0.8t
10 0 0
S p? (Ge
—=— DQM CKFFIT_1000evt
B EER e e,
ev
|_RecoAssoc2GenPV| —— BOMMKEItREFIT 1000evt
DM _TESTOLHIT—1000evt-50000t

=
o
>

-
o
w

=
o
oS

=
(=)

Reco vertices not matched to gen PV

Reco vertices not matched to gen PV,

2

10*

10°

10?

10

V.J0

2 3 4
S p? (G%Q/Z), gen PV ek removed



	Contents
	Page 1


